
SAP ABAP table TICL841 {ResGpType/ResGp -> Indicative Values}

TICL841

CLIENT [CLNT (3)]

RESGRTYPE [CHAR (10)]

RESGR [CHAR (25)]

INDEX_NUMBER [NUMC (3)]

INDICATIVE [CHAR (10)]

T000

MANDT [CLNT (3)] TICL841-CLIENT = T000-MANDT 0..N

0..N

TICL860

CLIENT [CLNT (3)]

RESGRTYPE [CHAR (10)]
 TICL841-RESGRTYPE = TICL860-RESGRTYPE 

0..N

1

TICL861

CLIENT [CLNT (3)]

RESGRTYPE [CHAR (10)]

RESGR [CHAR (25)]

 TICL841-RESGR = TICL861-RESGR 

0..N

1

TICL862

CLIENT [CLNT (3)]

INDICATIVE [CHAR (10)]

 TICL841-INDICATIVE = TICL862-INDICATIVE 

0..N

1


